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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 3rd Semester Examination, 2021-22 

ECOACOR05T-ECONOMICS (CC5) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 
িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) State the strong axiom of the revealed preference theory. 
েগাচরীɛত পছn তেttর কিঠন (Strong) sতঃিসdিট েলেখা। 

(b) A perfectly competitive firm faces a perfectly elastic demand curve. Explain 
why? 
একিট পূণ�াñ pিতেযািগতামূলক ফাম� সmূণ� িsিতsাপক চািহদােরখার সmুখীন হয় েকন ? 

(c) Establish the relation between monopoly power and price elasticity of demand. 
একেচিটয়া kমতা ও চািহদার দামগত িsিতsাপকতার সmক�িট িনrপণ কেরা। 

(d) What is natural monopoly? 
sাভািবক একেচিটয়া কারবার বলেত িক েবােঝা ? 

(e) What is monopsony? 
‘মেনাপসিন’ কােক বেল ? 

(f) A risk averse person is offered a choice between a gamble paying Rs. 1000 with 
probability 0.25 and Rs. 100 with probability 0.75 or payment of Rs. 325. Which 
one would he choose? 
একজন Ɉঁিক-িবমুখ ব°িkেক যিদ dিট সmাব° েkt েথেক িনব�াচন করেত হয় েযখােন pথমিটর েkেt েস 
Rs. 1000 েপেত পাের যার সmাবনা 0.25 এবং Rs. 100 েপেত পাের তার সmাবনা 0.75 এবং িdতীয় 
েkেt েস Rs. 325 পােব। েস েকান  ্  েktিট িনব�াচন করেব ? 

(g) A consumer purchases 10,20 21 qq  at prices 6,2 21 pp . He is also 
observed to purchase 4,18 21 qq  at prices 5,3 21 pp . Is his behaviour 
consistent with the weak axiom of revealed preference theory? 
েকান একজন েkতা যখন dিট dব° েকেন তখন পিরমাণ ও দাম হল, 10,20 21 qq ,  

6,2 21 pp । পের েদখা যায় েয েস ঐ dিট dব° েকেন যার পিরমাণ ও দাম হল 
4,18 21 qq ; 5,3 21 pp ; তার এই আচরণ িক েগাচরীɛত পছn তেttর অনুমােনর সেñ 

সñিতপূণ� ? 
(h) What is shut-down point for a perfectly competitive firm?

পূণ�াñ pিতেযািগতার বাজাের একিট ফােম�র েkেt উৎপাদন বেnর িবn ুিট িক ? 
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2. Answer any four questions from the following: 
িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ  

5×4 = 20

(a) Show that the market with higher price elasticity of demand will be charged a 
lower price under third degree price discrimination. 
েদখাও েয, tতীয় মাtার দাম পৃথকীকরেণর েkেt েয বাজাের চািহদার দামগত িsিতsাপকতা েবিশ 
েসিটর দাম tলনামূলকভােব কম হয়। 

(b) Derive the short-run supply curve of a perfectly competitive firm. 
পূণ�াñ pিতেযািগতামূলক বাজাের ফােম�র েযাগান েরখা িনণ�য় কেরা। 

(c) Explain briefly the sources of monopoly power. 
একেচিটয়া kমতার মাtা িনধ�ারণকারী িবষয়gিল সংেkেপ আেলাচনা কেরা। 

(d) Show that a monopolist will never operate in the region where the absolute value 
of price elasticity of demand is less than one. 
েদখাও েয একজন একেচিটয়া কারবাির কখেনাই উৎপাদন করেব না যিদ চািহদা দামগত িsিতsাপকতার 
চরম মান এেকর কম হয়। 

(e) Does a unique supply curve exist under monopoly? Explain your answer. 
একেচিটয়া কারবািরর েকান  িনিদ�Ŷ েযাগান েরখা থােক িক ? উtেরর সপেk ব°াখ°া দাও। 

(f) Show that the marginal expenditure will be higher than average expenditure for a 
monopsonist facing a linear supply curve. 
েদখাও েয েকান  ‘েমানপসিনs’-এর pািnক ব°য়, গড় ব°য় অেপkা েবশী হেব যিদ েযাগান েরখািট 
সরলৈরিখক হয়। 

  
3. Answer any two questions from the following:

িনmিলিখত েয-েকােনা dিট  pেűর  উtর দাওঃ 
10×2 = 20

(a) Show that substitution effect is negative using the Weak axiom of ‘Revealed 
Preference’ theory. 
েগাচরীɛত পছেnর তেttর dব�ল sতঃিসd-এর dারা েদখাও েয পিরবত� pভাব ঋণাtক হেব। 

(b) How can you derive the supply curve of labour and explain why the curve may 
have a backward bending section. 
Ëেমর েযাগান েরখা িনণ�য় কেরা এবং ব°াখ°াসহ েদখাও েয েরখািট পůাৎমুখী হেত পাের। 

(c) Write short note on the following: 
(i)  Adverse selection 
(ii)  Moral Hazard  
িনmিলিখত dিট  িবষেয় টীকা েলেখাঃ 
(i)  pিতkল িনব�াচন 
(ii)  �নিতক িবপিt 

(d) Derive the long-run supply curve of a perfectly competitive increasing cost 
industry. 
পূণ� pিতেযািগতামূলক বাজােরর দীঘ�কালীন েযাগান েরখািট িনণ�য় কেরা যখন িশlিটেত kমবধ�মান  
ব°য়-এর িবিধ কায�করী আেছ। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––— 
 



CBCS/B.A./B.Sc./Hons./3rd Sem./ECOACOR06T/2021-22 

3061 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 3rd Semester Examination, 2021-22  

ECOACOR06T-ECONOMICS (CC6) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is sacrifice ratio? 

তয্ােগর অনুপাত কােক বেল ? 

(b) What is structural unemployment? 

কাঠােমাগত �বকারt কােক বেল ? 

(c) What is meant by underemployment equilibrium? 

অপূণ� িনেয়াগ ভারসাময্ কােক বেল ? 

(d) What is disinflation? 

অবমুdাsীিত িক ? 
(e) What is inflation inertia? 

মুdাsীিতর জাডয্ িক ? 

(f) What is meant by ‘shoe-leather cost’ of inflation? 

মুdাsীিতর ‘ǖ-�লদার বয্য়’ কােক বেল ? 

(g) What is velocity of money? 

অেথ�র pচলন �বগ কােক বেল ? 

(h) What is meant by backward looking price expectation? 

অতীতদশ�ী pতয্াশা বলেত িক �বােঝা ? 

  

2. Answer any four  questions from the following: 

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ  

5×4 = 20

(a) Do you think that unexpected inflation hurts more than expected inflation? Give 
reasons. 
অpতয্ািশত মুdাsীিত িক pতয্ািশত মুdাsীিতর tলনায় �বিশ �বদনাদায়ক ? যিুkসহ বয্াখয্া কেরা। 
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(b) How Phillips curve can be derived from the Aggregate Supply curve of the 
economy? 

সামিgক �যাগান �রখা �থেক িকভােব িফিলপস �রখা িনrপণ করা যায় ? 

(c) Distinguish between the effect of an unanticipated and an anticipated rise in 
money supply under rational expectations. 

যুিkবাদী pতয্াশায় অথ� �যাগােনর অপনুিমত ও অনুিমত বৃিdর পাথ�কয্ িনrপণ কেরা। 

(d) Distinguish between Adaptive and Rational Expectations. 

অিভেযািজত pতয্াশা ও যুিkবাদী pতয্াশার মেধয্ পাথ�কয্ িনrপণ কেরা। 
(e) How will you derive short-run aggregate supply curve with the help of sticky-

wage model? 

rd-মজুরী মেডেলর সাহােযয্ িকভােব �যাগান �রখা �বর করা যায় আেলাচনা কেরা। 
(f) What is “policy ineffectiveness”? Explain. 

‘নীিতর অকায�কারীতা’ বলেত িক �বাঝায় বয্াখয্া কেরা। 
  

3. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর  উtর দাওঃ 

10×2 = 20

(a) Explain briefly how the equilibrium rate of interest is determined in the Classical 
Model. Find out the effect of technological innovation on equilibrium output and 
employment in the Classical System. 

kািসকয্াল মেডেল সুেদর হার িকভােব িনধ�ািরত হয় বয্াখয্া কেরা। কািরগির �কৗশেলর উnিতর ফেল এই 
মেডেল উৎপাদন ও িনেয়াগ িকভােব pভািবত হয় আেলাচনা কেরা। 

4+6

(b) What is Liquidity Trap? Critically evaluate the strength of Real Balance effect to 
enable the economy to get rid of liquidity trap situation. 

তারেলয্র ফাঁদ কােক বেল ? তারেলয্র ফাঁদ পিরিsিত �থেক মুিkর পথ িহেসেব ‘িরেয়ল বয্ােলn’ 
pভােবর কায�কািরতা মূলয্ায়ন কেরা। 

2+8

(c) Define Phillips curve and show that short-run Phillips curve is downward sloping, 
while the long run Phillips curve is vertical. 

িফিলপস �রখার সংjা দাও ও �দখাও �য, slকােল িফিলপস �রখািট ঋণাtক নিতসmn হেলও 
দীঘ�কােল তা উলm আkিত ধারণ কের। 

(d) Write short notes on the following: 

িনmিলিখত িবষয়gিলর উপর সংিkp টীকা �লেখাঃ 

5+5

 (i) Classical Dichotomy 
 kািসকয্াল িdতttবাদ 
(ii) Keynes effect. 
 �কইnীয় pভাব। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 3rd Semester Examination, 2021-22 

ECOACOR07T-ECONOMICS (CC7) 

MATHEMATICAL METHODS FOR ECONOMICS-II  

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Derive whether the following functions are quasi-concave. 
(i) 43)( xxf  (ii) )0(),( yyeyxf x  

িনmিলিখত অেপkকgিল আধা-অবতল িকনা িবচার কেরা। 
(i) 43)( xxf  (ii) )0(),( yyeyxf x  

1+1

(b) If the monopolist faces a demand curve qP 2
116 , determine the output level 

at which profit is maximised. 

যিদ একিট একেচিটয়া কারবািরর চািহদা অেপkক qP 2
116  হয়, তেব মুনাফা সেবর্াcকারী 

উৎপাদেনর পিরমাণ িনণর্য় কেরা। 

2

(c) What do you mean by homogeneity of production function? 
একিট উৎপাদন অেপkেকর ‘একজাতীয়তা’ বলেত িক েবােঝা ? 

2

(d) Explain the concept of zero sum game. 
একিট ‘ǖনয্ েযাগফল েগম’ : ধারণা িক তা েবাঝাও। 

2

(e) Determine the nature of the following time path. 
 4)2(3 t

tY  

pদt সময় পেথর pkিত িনধর্ারণ কেরা। 
 4)2(3 t

tY  

2

(f) Give an example of a 2 × 2 biased game. 
একিট 2 × 2 পkপাতdŶ েগম-এর উদাহরণ দাও। 

2

(g) State the “complementary slackness” theory of Linear Programming Problem. 

সরলৈরিখক েpাgাম-এ ‘‘কমিpেমনটারী sাকেনস’’ সূtিট িববতৃ কেরা। 

2
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(h) What is Consumption Possibility Locus?
েভাগ সmাবয্তা েরখা কােক বেল ? 

2

  
2. Answer any four questions from the following:

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ  
5×4 = 20

(a) Explain the meaning of Lagrange Multiplier in a problem of maximising utility 
subject to budget constraint in a two good case. 
dিট dেবয্র েkেt বােজট pিতবnকতার সােপেk উপেযািগতা সবর্ািধকরেণর সমসয্া সমাধােনর জনয্ েয 
Lagrange gণক বয্বহার করা হয় তার অথর্ বয্াখয্া কেরা। 

5

(b) Given the demand and supply functions for the Cobweb model 
 tdt pQ 318  
 143 tst pQ  

Find the intemporal equilibrium price and determine whether the equilibrium is 
stable. 
কবওেয়ব মেডেলর চািহদা ও েযাগান অেপkকgিল হল 
 tdt pQ 318  এবং 143 tst pQ  
দােমর সময় পথ িনণর্য় কেরা। ভারসাময্ দাম িক িsিতশীল ? 

3+2

(c) What is meant by homothetic function? Show that the production function 
1log KLQ  is homothetic but is not homogeneous. 

েহােমােথিটক অেপkক বলেত িক েবােঝা ? েদখাও েয 1log KLQ  অেপkক-িট েহােমােথিটক 
িকnt েহােমািজিনয়াস নয়। 

2+3

(d) Solve the following problem graphically: 

yx,
Maximise yxZ 52  

Subject to 4x  
 3y  
 82yx  

 0, yx  

িচেtর সাহােযয্ িনmিলিখত সমসয্ািটর সমাধান কেরাঃ 

yx,
Maximise  yxZ 52   

Subject to 4x  
 3y  
 82yx  
 0, yx  

5

(e) Write down the Kuhn-Tucker conditions and find out the optimal values of x & y 
for the following constrained optimization problem: 

Maximize yyxxyxC 32805),( 22  

Subject to output constraint 30yx . 

িনmিলিখত বাধয্যুk সবেচেয় কাময্ অবsায় েপৗঁছােনার সমসয্ািট িবেবচনা কের, Kuhn-Tucker 
শতর্gিল েলেখা এবং x ও y -এর কাময্ মানgিল িনণর্য় কেরা। 

3+2
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(f) Find out the optimal mixed strategies and the value of the game for the following 
two person zero-sum game. 

 ⎥
⎦

⎤
⎢
⎣

⎡
90
24

 

িনেm pদt dই েখেলায়াড়যুk ǖনয্ েযাগফল েখলািটর pেতয্ক েখেলায়ােড়র কাময্ িমËেকৗশল এবং 
েখলািটর মূলয্ িনণর্য় কেরা। 

 ⎥
⎦

⎤
⎢
⎣

⎡
90
24

 

3+2

  

3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর  উtর দাওঃ 

10×2 = 20

(a) (i) Why is the knowledge of dual important in Linear Programming Problem 
Analysis? 

(ii) Find out the dual of the following Primal Problem of LPP where w and r 
represents factor prices: 

 Minimize rwC 4212  

 Subject to   32rw  

    44rw  

  33 rw  

    0, rw  

(iii) Identify one basic feasible solution of the dual problem 

(অ) সরলৈরিখক েpাgািমং আেলাচনায় �dত সমসয্ার ধারণািট grtপূণর্ েকন ? 
(আ) উপের pদt pাইমাল সমসয্ািটর েযখােন w এবং r উপাদােনর দাম িনেদর্শ করেছ, তার �dত 

সমসয্ািট গঠন কেরা। 
(ই) �dত সমসয্ািটর একিট েবিসক িফিসবল সলুশান িচিhত কেরা। 

2+4+4

(b) Assume the demand and supply functions for a commodity are: 

 pppQd 39  

 pppQs 541 , with 4)0(p  and 4)0(p  

Find out the time path of price, assuming market is clear at every point of time. 
Discuss the nature of the time path. 

মেন কেরা একিট dেবয্র চািহদা ও েযাগান অেপkকgিল হল 
 pppQd 39  

 pppQs 541  

েযখােন 4)0(p  এবং 4)0(p । pিতমুhেতর্ যিদ বাজার সমnয় থােক তেব দােমর সময় পথ িনণর্য় 
কেরা। সময় পথিটর pkিত আেলাচনা কেরা। 

6+4
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(c) (i) Find the demand vector consistent with the output vector 
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

18
21
25

X  and the 

co-efficient matrix 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

2.03.01.0
2.01.04.0
2.03.02.0

A  

(ii) Check whether the Hawkins-Simon’s conditions are satisfied. 
(iii) Give the economic interpretation of Hawkins-Simon’s conditions. 

(অ) উৎপাদন েভkর 
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

18
21
25

X  এবং pযুিkগত সহগাì ময্াি¹k 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

2.03.01.0
2.01.04.0
2.03.02.0

A -এর 

সােথ সামĂসয্পূণর্ চািহদা েভkর িনণর্য় কেরা। 
(আ) হিকn-সাইমন শতর্gিল পূরণ হেc িকনা পরীkা কেরা। 
(ই)  হিকn-সাইমন শতর্gিলর অথর্ৈনিতক বয্াখয্া কেরা। 

4+4+2

(d) (i) Show that in a two person zero-sum game 
 MaximinMinimax  
(ii) Consider the following game where payoff of two Prisoner’s A & B as 

following: 
  B 

 A  
)3,3()1,15(
)15,1()8,8(

confess-NonConfess

confess-Non

Confess
 

Show that the above Prisoner’s dilemma problem has strictly dominant strategy 
for both players A & B. 
(iii) Show that Nash-Equilibrium for the above game is same as dominant 

strategy solution. 
(অ) েদখাও েয একিট dই েখেলায়াড়যুk ǖনয্ েযাগফল েগেম 
 MaximinMinimax  
(আ) উপেরর dই অপরাধী (A & B) যুk েগেমর Payoff ময্াি¹kিট িবেবচনা কের, েদখাও েয 

Prisoner’s dilemma সমসয্ািটর েkেt কেঠারভােব উভয় েখেলায়ােড়র েkেtই dominant 
strategy আেছ। 

(ই) েদখাও েয উপিরউk েখলািটর েkেt NASH ভারসাময্ এবং dominant strategy সমাধােনর 
েকান পাথর্কয্ েনই। 

3+4+3

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / 

Whatsapp to their own respective colleges on the same day / date of examination 
within 1 hour after end of exam. University / College authorities will not be held 
responsible for wrong submission (at in proper address). Students are strongly 
advised not to submit multiple copies of the same answer script. 

 ––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 3rd Semester Examination, 2020, held in 2021  

ECOACOR06T-ECONOMICS (CC6) 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is money illusion? 

‘অথ�িবÇম’ বলেত িক �বােঝা ? 

(b) What is meant by search unemployment? 

অনুসnানজিনত �বকারt কােক বেল ? 

(c) What is inflation tax and who bears the burden of it? 

‘মুdাsীিত কর’ কােক বেল ? কারা এই করভার বহন কেরন ? 

(d) Suppose inflation rate is 2% and nominal rate of interest is 6%. If inflation rises 
to 10%, how the nominal rate of interest has to be changed to keep real interest 
rate unchanged?  

ধরা যাক মুdাsীিতর হার 2% ও আিথ�ক সুেদর হার 6%। মdুাsীিতর হার �বেড় 10% হেল, pkত 
সুেদর হার অপিরবিত�ত রাখেত আিথ�ক সুেদর হার কতটা বদলােনা দরকার হেব ? 

(e) What is Pigou effect? 

িপg pভাব বলেত িক �বােঝা ? 

(f) What is meant by neutrality of money?  

মুdার pভাব শূন°তা কােক বেল ? 

(g) State and explain Say’s Law of market. 

‘�স’-এর িবিধিট �লেখা ও ব°াখ°া কেরা। 

(h) Under what circumstances disinflation can be painless? 

িক িক পিরিsিতেত অবমূল°sীিত যntণাহীন হেত পাের ? 

  
2. Answer any four  questions from the following: 

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ  

5×4 = 20

(a) What is meant by Classical Dichotomy? 

kািসক°াল িdতttবাদ বলেত িক �বােঝা ? 
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(b) What are the Keynesian reasons for downward rigidity of money wage at the 
subsistence level?  

�কইnীয় তেtt আিথ�ক মজুরীর নূ°নতম মাtায় িনmিদেক অপিরবত�নীয়তার কারণgিল িক িক ? 

(c) What is stagflation? Use AD-AS model to explain stagflation. 

‘িsতাবsার মূল°sীিত’ পিরিsিতিট িক ? সামিgক চািহদা-�যাগান মেডল dারা পিরিsিতিট ব°াখ°া কেরা। 

(d) Explain how current price level is influenced by current and future money supply. 

বত�মান দামsর িকভােব বত�মান ও ভিবষ°ৎ আিথ�ক �যাগান dারা pভািবত হয় ব°াখ°া কেরা। 

(e) Why the aggregate supply curve vertical according to classicals? 

k°ািসক°াল মেত সামিgক �যাগান �রখা �কন উlm হয় ? 

(f) “With rational expectation neutrality of money always holds true” — Explain. 

যুিkবাদী pত°াশার �kেt সব�দা মdুার pভাব শূন°তা কায�করী হয় — ব°াখ°া কেরা। 

  

3. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর  উtর দাওঃ 

10×2 = 20

(a) (i) Using sticky-price model, explain how can you derive a positively sloping 
Aggregate Supply Curve. 

 rd-দাম মেডেলর সাহােয° িকভােব ধনাtক ঢালসmn সামিgক �যাগান �রখা �বর করা যায় 
�দখাও। 

(ii)  How can you derive Phillips curve from Aggregate Supply Curve?  

 সামিgক �যাগান �রখা �থেক িকভােব িফিলp �রখা িনrপণ করেব ? 

6+4

(b) What are the social costs of inflation? Discuss the costs of anticipated and 
unanticipated inflation. 

মুdাsীিতর সামািজক ব°য় বলেত িক �বাঝায় ? অননুিমত মুdাsীিত এবং অনুিমত মুdাsীিতর ব°য়gিল 
আেলাচনা কেরা। 

3+7

(c) Define Phillips curve. Show that short-run Phillips curve is downward sloping, 
while the long run Phillips curve is vertical. Under what circumstance the short 
run Phillips curve can also be vertical? 

িফিলp �রখার সংjা দাও। �দখাও �য slকােল িফিলp �রখািট ঋণাtক ঢালসmn হেলও দীঘ�কােল তা 
উlm আkিত ধারণ কের। িক পিরিsিতেত slকালীন িফিলp �রখাও উlm হেত পাের ? 

2+6+2

(d) What is ‘Natural Rate Hypothesis’? Justify the adoption of policies like fiscal and 
monetary policy in the face of ‘Natural Rate Hypothesis’. 

sাভািবক হােরর pকlিট িক ? sাভািবক হােরর pকেlর পিরেpিkেত রাজs ও আিথ�ক নীিতর মত 
হsেkপকারী আিথ�ক নীিতর �যৗিkকতা ব°াখ°া কেরা। 

4+6

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 3rd Semester Examination, 2020, held in 2021 

ECOACOR05T-ECONOMICS (CC5) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Suppose an investor is concerned about business choice in which there are three 
prospects— the returns and probabilities are furnished below:- 
ধরা যাক , একজন িবিনেয়াগকারী এমন একিট িবিনেয়ােগর িনব�াচেন িলp যার িতনিট সmাব° পিরণাম 
বত�মান। pিতদান ও সmাবনা নীেচ �দওয়া হলঃ 

Return Probability
Rs. 100 0.2 
Rs. 50 0.4 
Rs. 25 0.4 

 What is the expected value of returns of this uncertain investment? 
অিনিůত িবিনেয়াগিটর pত°ািশত মান িক ? 

(b) State the weak axiom of Revealed Preference Theory. 
�গাচরীɛত পছnতেttর dব�ল sতঃিসdিট িক ? 

(c) Can super-normal profit exist in long-run for a perfectly competitive market? 
Briefly explain. 
পূণ�াñ pিতেযািগতার বাজাের দীঘ�কালীন �kেt ফাম� অিতিরk মুনাফা অজ�ন করেত পাের িক ? 
সংেkেপ বুিঝেয় দাও। 

(d) What are the features of perfect competition?  
পূণ� pিতেযািগতার মলূ �বিশŶ°gিল িক িক ? 

(e) If the price elasticity of demand is unity throughout the demand curve of a 
monopolist, will the firm be interested to produce? 
একেচিটয়া কারবারীর বাজাের যিদ চািহদােরখার pিতিট িবn ুেত চািহদার দামগত িsিতsাপকতার মান 
একক হয় তেব �স উৎপাদন করেত উৎসাহী হেব িক ? 

(f) Mention a measure of monopoly power. 
একেচিটয়া কারবারীর kমতার পিরমাপকারী একিট পdিত �লেখা। 

(g) Derive algebraically the equilibrium condition of the multi-plant monopolist. 
বh ফাম�-িবিশŶ একেচিটয়া উৎপাদেকর ভারসােম°র শত� গািণিতকভােব িনrপণ কেরা। 

(h) What is product diversification? 
dেব°র �বিচt°করণ বলেত িক �বােঝা ? 
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2. Answer any four questions from the following: 

িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ  
5×4 = 20

(a) Explain the social cost of monopoly. 
একেচিটয়া কারবােরর সামািজক ব°য় িক ? 

(b) Derive the long-run supply curve of a constant cost industry. 
পূণ�াñ pিতেযািগতার বাজােরর দীঘ�কালীন �যাগানেরখা িনণ�য় কেরা যখন িশlিট অপিরবিত�ত ব°য়- 
িবিশŶ। 

(c) Do you think that a perfectly competitive firm may continue to produce in the 
short-run even if it incurs a loss? 
পূণ�াñ pিতেযািগতার বাজাের �কােনা ফাম� যিদ slকালীন সমেয় kিতর সmুখীন হয় তবুও উৎপাদন 
করেব িক ? 

(d) What determines the degree of monopsony power in a market? 
�কান বাজাের ‘�মানপসিন’ kমতার মাtা িনধ�ারণকারী িবষয়gিল উেlখ কেরা। 

(e) Monopolistic competitive market is similar to perfect competition in some 
respects, but is it an efficient market structure?  
একিট একেচিটয়া pিতেযািগতামূলক বাজার পূণ� pিতেযািগতার বাজােরর সােথ িকছু সাদৃশ° বহন কের, 
িকnt এিটর দkতা িক pűাতীত ? 

(f) Explain the long-run equilibrium of a monopolistic competitive firm. 
একেচিটয়া pিতেযািগতামূলক বাজাের একিট ফােম�র দীঘ�কালীন ভারসােম°র ব°াখ°া দাও। 

  
3. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর  উtর দাওঃ 
10×2 = 20

(a) Derive the long-run equilibrium condition of the firm under perfect competition 
by tracing the adjustment process from short-run profit situation. 
�য পূণ� pিতেযািগ ফাম� slকালীন ভারসাম° অবsায় অিতিরk মুনাফা লাভ করেছ, তার দীঘ�কালীন 
ভারসােম° �পৗঁছােনার kমপdিত বণ�না কেরা এবং ভারসােম°র শত�াবলী �লেখা। 

10

(b) Explain the equilibrium of a monopolist under third degree price discrimination.  
tতীয় মাtার দাম sতntীকরেণর �kেt একেচিটয়া কারবারীর ভারসাম° ব°াখ°া কেরা। 

10

(c) What is perceived demand curve and proportional demand curve in monopolistic 
competition? Comment on ‘Ideal output’ and ‘Excess Capacity’ in a monopolistic 
competitive market.  
একেচিটয়া pিতেযািগতামূলক বাজাের অনিুমত চািহদােরখা ও বাজার অংশীদাির চািহদােরখা বলেত িক 
�বােঝা ? এrপ বাজাের ‘আদশ� উৎপাদন’ ও ‘অিতিরk kমতা’-এই dিট িবষয় আেলাচনা কেরা। 

4+3+3

(d) Explain how a person can reduce risk by (i) Diversification and (ii) Obtaining 
additional information.  
�দখাও একজন ব°িk িকভােব (i)  �বিচt°করেণর dারা এবং (ii) অিতিরk তথ° সংgেহর dারা Ɉঁিক 
কমােত পাের। 

10

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 ––––×––— 
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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 3rd Semester Examination, 2020, held in 2021 

ECOACOR07T-ECONOMICS (CC7) 

MATHEMATICAL METHODS FOR ECONOMICS-II  

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) Give two examples of convex set in Economic analysis. 
অথর্নীিতর আেলাচনায় বয্বhত হয় এমন dিট Convex set-এর উদাহরণ দাও। 

(b) What do you mean by “Mixed Strategy” in game theory? 
েগম তেtt ‘িমË-েকৗশল’ বলেত িক েবােঝা ? 

(c) What are the assumptions required to convert a “Leontief Static Open Model” to 
a ‘Closed Model’? 

িক িক অনমুােনর dারা একিট “Leontief Static Open Model”-েক  ‘Closed Model’-এ 
পিরণত করা যায়। 

(d) Show that the following function is homothetic. 

েদখাও েয িনmিলিখত অেপkকিট েহােমােথিটক। 

 2
21

2
1 )log( xxxy �  

(e) Explain the concept of constant-sum-game. 

‘‘rবক েযাগফল েগম’’ ধারণািট বয্াখয্া কেরা। 

(f) Mention two main differences in between “basic feasible solution” and “feasible 
solution” in linear programming problem. 
‘‘েবিসক িফিজবল সমাধান’’ ও ‘‘িফিজবল সমাধান’’ dেয়র মেধয্ dিট pধান পাথর্কয্ অনুধাবন কেরা। 

(g) Solve the equation 62  � y
dt
dy , with initial condition 10)0(  y . 

pাথিমক শতর্ 10)0(  y  হেল 62  � y
dt
dy

 সমীকরণিটর সমাধান কেরা। 
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(h) What kind of time path is represented by 952 )( �� t
t

yy . 

িনmিলিখত সমীকরণিট িক ধরেনর সময়পথ িনেদর্শ করেছ ? 952 )( �� t
t

yy । 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ  
5×4 = 20

(a) Let the monopolist face the demand function aAPq � , under what condition the 
monopolist will decide to increase the Price (P) in order to increase revenue. 

যিদ একিট একেচিটয়া pিতেযাগী aAPq �  চািহদার সm ুখীন হয়, তাহেল েকান শেতর্ েসই pিতেযাগী 
িবkয়মূলয্ (revenue) বাড়ােনার উেdেশয্ দাম (P) বাড়ােনার িসdাn েনয়। 

(b) Given the following demand and supply functions find the inter-temporal 
equilibrium price and determine whether the equilibrium is stable. 

 )0,( !� EDED tdt pQ  

 )0,0(1 !�� � GJGJ tst pQ  
 stdt QQ   

িনmিলিখত চািহদা ও েযাগান অেপkেকর পিরেpিkেত আnঃেমািলক (Inter-temporal) ভারসাময্ 
দাম িনধর্ারণ কেরা এবং ভারসাময্ দাম িsিতশীল িকনা তা িনধর্ারণ কেরা। 
 )0,( !� EDED tdt pQ  

 )0,0(1 !�� � GJGJ tst pQ  

 stdt QQ   

(c) Take t
iy )(2

1)200250(200 �� , what is the value of E ? Compute 321 ,, yyy  to 

satisfy yourself that iy  is falling from initial level of 250 towards the equilibrium 
level of 200. 

ধরা যাক t
iy )(2

1)200250(200 ��  E এর মান কত হেব ? 

21, yy  এবং 3y  এর মান িনণর্য় এমনভােব যােত iy  এর মান pারিmক মান 250 েথেক ভারসাময্ দাম 
200 এর িদেক অবতারণা কের। 

1+4

(d) Solve the following game by using “Dominance Principle”: 

 B1 B2 B3 B4 B5 
A1 3 5 4 9 6 
A2 5 6 3 7 8 
A3 8 7 9 8 7 
A4 4 2 8 5 3 

 
উপেরাk েগমিট ‘‘েডািমনয্াn িpিnিপল’’ এর সাহােযয্ সমাধান কেরা। 

5
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(e) Given the input-coefficient matrix of an input output model and the final 

consumption demand vector ⎥
⎦

⎤
⎢
⎣

⎡
 ⎥

⎦

⎤
⎢
⎣

⎡
 

50
50

&
2.02.0
2.03.0

'' CA . Find the optimal 

output level of two goods. Suppose that 0.2 and 0.1 are labour coefficients of two 
good respectively. If 100 L  will there be unemployment in the economy? 

একিট ইনপুট-আউটপুট মেডেলর উৎপাদন সহগ-ময্াি¹k ও সবর্েশষ েভাগ চািহদা েভkর হল 

⎥
⎦

⎤
⎢
⎣

⎡
 ⎥

⎦

⎤
⎢
⎣

⎡
 

50
50

 
2.02.0
2.03.0

'' CA  । dবয্ dেয়র কাময্ উৎপাদেনর পিরমাণ কত হেব ?  

ধরা যাক dিট dেবয্র pেয়াজনীয় Ëম সহগ 0.2  এবং 0.1  এবং 100 L  হেল অথর্নীিতেত েবকারt 
থাকেব ? 

3+2

(f) Graphically solve the following linear programming problem: 

েরখািচেtর সাহােযয্ িনmিলিখত “Linear programm” সমসয্ািটর সমাধান কেরাঃ 

Maximize  21 76 xxz �  

Subject to 1232 21 �� xx  

 82 21 �� xx  

 0, 21 �xx  
  

3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর  উtর দাওঃ 

10×2 = 20

(a) Solve the following Linear Programming Problem with the help of the Simplex 
Method: 
িসমেpk পdিতর সাহােযয্ িনেচর সরল �রিখক েpাgামিটর সমাধান কেরাঃ 

Minimize  myxz 284 ��  

Subject to 4422
1 ��� myx  

 62 ����� myx  

 where 0,, �myx  

10

(b) Set up a Leontief Static Open Input-Output Model and show how prices are 
solved in such model. 
িলওনিটেয়েফর িsর মুk ইনপুট-আউটপুট মেডল গঠন কের েদখাও িকভােব ঐ মেডেল দামgিল 
িনধর্ািরত হয়। 

10

(c) Suppose the market demand and supply function are  
মেন কেরা বাজােরর চািহদা ও েযাগান অেপkকgিল িনmrপ 

 )0,( !� EDED tdt PQ  

 and )0,( !�� GJGJ tst PQ  

The price adjustment is inversely proportional to the inventory accumulated such 
that )0()(1 !�� � VV dtsttt QQPP . 

Interpret the time path of price in detail. 

10

এবং
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দাম িনধর্ারণ যিদ মজুত ভাčােরর পিরবতর্েনর সােথ বয্াsানুপািতক হয় অথর্াৎ 
)0()(1 !�� � VV dtsttt QQPP , তেব দােমর সময় পথ িবেųষণ কেরা। 

(d) Consider the following game (Player 1’s payouts in bolds): 

িনmk েগমিটেত েখেলায়াড় 1–এর payouts gেলা bold করা আেছ 

Player - 1 

Player - 2 
 Left Middle Right 

Up 1,  2 3,  5 2,  1 
Middle 0,  4 2,  1 3,  0 
Down –1,  1 4,  3 0,  2 

(i) Does either player have a dominant strategy? — Explain. 

 েকান েখেলায়ােড়র িক “dominant” sািটিজ আেছ ? —  বয্াখয্া কেরা। 

(ii) Does either player have a dominated strategy? — Explain. 
 েকান েখেলায়ােড়র িক “dominated”  sািটিজ আেছ ? — বয্াখয্া কেরা। 

(iii) Solve the equilibrium for this game. 
 েগমিটর ভারসাময্ সমাধান কেরা। 

2+2+6

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
––––×––— 

 


















